Village of Morton Grove, Cook County, Ilinois

Albert-Davis Water Main Improvements Project

Bid Tabu	ivis Water Main Improvements Project lation ng: November 30, 2023, 10:00 am			Enginee	er's Estimate	316 Ca	Contractors, Inc. ry Point Drive Illinois 60013	5933 N.	n Contracting Co. Knox Avenue , Illinois 60646	1251 Re	Construction, Inc. edeker Road s, Illinois 60016	490 T	struction Corporation opsoil Drive ago, Illinois 60185	720 H	o Brothers. Inc. Richard Lane e, Illinois 60007	1205 N.	ontractors, Inc. Garland Road , Illinois 60084
Code Number	Item	Unit of Measurement	Quantity	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost
	BASE BID						•						•				
20100110	TREE REMOVAL (6 TO 15 UNITS DIAMETER)	UNIT	24	\$53.00	\$1,272.00	\$55.00	\$1,320.00	\$70.00	\$1,680.00	\$50.00	\$1,200.00	\$35.00	\$840.00	\$45.00	\$1,080.00	\$35.00	\$840.00
20100210	TREE REMOVAL (OVER 15 UNITS DIAMETER)	UNIT	70	\$53.00	\$3,710.00	\$60.00	\$4,200.00	\$77.00	\$5,390.00	\$59.00	\$4,130.00	\$50.00	\$3,500.00	\$50.00	\$3,500.00	\$50.00	\$3,500.00
20101000	TEMPORARY FENCE	FOOT	1,253	\$3.00	\$3,759.00	\$1.00	\$1,253.00	\$5.00	\$6,265.00	\$6.00	\$7,518.00	\$6.00	\$7,518.00	\$4.00	\$5,012.00	\$8.00	\$10,024.00
20101100	TREE TRUNK PROTECTION	EACH	11	\$130.00	\$1,430.00	\$200.00	\$2,200.00	\$75.00	\$825.00	\$225.00	\$2,475.00	\$275.00	\$3,025.00	\$200.00	\$2,200.00	\$325.00	\$3,575.00
20800150	TRENCH BACKFILL	CU YD	35	\$70.00	\$2,450.00	\$75.00	\$2,625.00	\$70.00	\$2,450.00	\$75.00	\$2,625.00	\$45.00	\$1,575.00	\$50.00	\$1,750.00	\$115.00	\$4,025.00
25000100	SEEDING, CLASS 1	ACRE	0.60	\$7000.00	\$4,200.00	\$10,000.00	\$6,000.00	\$10,000.00	\$6,000.00	\$7,000.00	\$4,200.00	\$5,000.00	\$3,000.00	\$8,000.00	\$4,800.00	\$4,200.00	\$2,520.00
25000314	SEEDING, CLASS 4B	ACRE	0.10	\$10000.00	\$1,000.00	\$20,000.00	\$2,000.00	\$10,000.00	\$1,000.00	\$18,500.00	\$1,850.00	\$25,000.00	\$2,500.00	\$11,000.00	\$1,100.00	\$10,000.00	\$1,000.00
25100630	EROSION CONTROL BLANKET	SQ YD	2,827	\$3.00	\$8,481.00	\$3.00	\$8,481.00	\$5.00	\$14,135.00	\$2.50	\$7,067.50	\$5.75	\$16,255.25	\$5.00	\$14,135.00	\$1.30	\$3,675.10
28000250	TEMPORARY EROSION CONTROL SEEDING	POUND	60	\$8.00	\$480.00	\$10.00	\$600.00	\$45.00	\$2,700.00	\$12.00	\$720.00	\$1.00	\$60.00	\$3.00	\$180.00	\$10.00	\$600.00
28000400	PERIMETER EROSION BARRIER	FOOT	1,167	\$7.00	\$8,169.00	\$5.00	\$5,835.00	\$5.00	\$5,835.00	\$4.25	\$4,959.75	\$5.00	\$5,835.00	\$5.00	\$5,835.00	\$3.80	\$4,434.60
28000510	INLET FILTERS	EACH	1	\$150.00	\$150.00	\$500.00	\$500.00	\$400.00	\$400.00	\$350.00	\$350.00	\$300.00	\$300.00	\$200.00	\$200.00	\$275.00	\$275.00
28001100	TEMPORARY EROSION CONTROL BLANKET	SQ YD	2,827	\$1.50	\$4,240.50	\$1.00	\$2,827.00	\$5.00	\$14,135.00	\$2.25	\$6,360.75	\$2.00	\$5,654.00	\$2.00	\$5,654.00	\$1.25	\$3,533.75
55100700	STORM SEWER REMOVAL 15"	FOOT	47	\$35.00	\$1,645.00	\$6.00	\$282.00	\$5.00	\$235.00	\$35.00	\$1,645.00	\$8.00	\$376.00	\$8.00	\$376.00	\$32.00	\$1,504.00
56103300	DUCTILE IRON WATER MAIN 12"	FOOT	140	\$250.00	\$35,000.00	\$350.00	\$49,000.00	\$220.00	\$30,800.00	\$155.00	\$21,700.00	\$175.00	\$24,500.00	\$300.00	\$42,000.00	\$545.00	\$76,300.00
56400500	FIRE HYDRANTS TO BE REMOVED	EACH	1	\$950.00	\$950.00	\$1,000.00	\$1,000.00	\$500.00	\$500.00	\$1,000.00	\$1,000.00	\$250.00	\$250.00	\$750.00	\$750.00	\$2,100.00	\$2,100.00
Z0013797	STABILIZED CONSTRUCTION ENTRANCE	SQ YD	78	\$55.00	\$4,290.00	\$51.00	\$3,978.00	\$100.00	\$7,800.00	\$105.00	\$8,190.00	\$25.00	\$1,950.00	\$50.00	\$3,900.00	\$90.00	\$7,020.00
Z0013798	CONSTRUCTION LAYOUT	L SUM	1	\$4000.00	\$4,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$9,500.00	\$9,500.00	\$7,500.00	\$7,500.00	\$12,500.00	\$12,500.00	\$17,500.00	\$17,500.00
Z0056650	STORM SEWERS, TYPE 1, WATER MAIN QUALITY PIPE, 15"	FOOT	47	\$250.00	\$11,750.00	\$340.00	\$15,980.00	\$183.00	\$8,601.00	\$110.00	\$5,170.00	\$255.00	\$11,985.00	\$318.00	\$14,946.00	\$350.00	\$16,450.00
X1200015	VALVE VAULTS TO BE ABANDONED	EACH	3	\$1300.00	\$3,900.00	\$1,000.00	\$3,000.00	\$750.00	\$2,250.00	\$500.00	\$1,500.00	\$2,000.00	\$6,000.00	\$325.00	\$975.00	\$1,800.00	\$5,400.00
X1200130	GATE VALVE 12" WITH VAULT, 5' DIAMETER	EACH	2	\$8500.00	\$17,000.00	\$19,700.00	\$39,400.00	\$8,300.00	\$16,600.00	\$11,000.00	\$22,000.00	\$10,000.00	\$20,000.00	\$12,500.00	\$25,000.00	\$14,000.00	\$28,000.00
X2111100	TOPSOIL EXCAVATION AND PLACEMENT, SPECIAL	CU YD	945	\$32.00	\$30,240.00	\$33.00	\$31,185.00	\$41.00	\$38,745.00	\$30.00	\$28,350.00	\$5.00	\$4,725.00	\$50.00	\$47,250.00	\$24.00	\$22,680.00
X5610658	WATER MAIN TO BE ABANDONED, 8"	FOOT	130	\$9.00	\$1,170.00	\$11.00	\$1,430.00	\$10.00	\$1,300.00	\$13.00	\$1,690.00	\$18.00	\$2,340.00	\$18.00	\$2,340.00	\$22.00	\$2,860.00
X5610662	WATER MAIN TO BE ABANDONED, 12"	FOOT	1,563	\$9.00	\$14,067.00	\$16.00	\$25,008.00	\$2.00	\$3,126.00	\$13.00	\$20,319.00	\$19.75	\$30,869.25	\$18.00	\$28,134.00	\$22.00	\$34,386.00
X5610708	WATER MAIN REMOVAL, 8"	FOOT	5	\$20.00	\$100.00	\$30.00	\$150.00	\$1.00	\$5.00	\$50.00	\$250.00	\$5.00	\$25.00	\$15.00	\$75.00	\$210.00	\$1,050.00
X5610712	WATER MAIN REMOVAL, 12"	FOOT	26	\$20.00	\$520.00	\$30.00	\$780.00	\$1.00	\$26.00	\$35.00	\$910.00	\$5.00	\$130.00	\$25.00	\$650.00	\$210.00	\$5,460.00
X5640175	FIRE HYDRANT COMPLETE	EACH	3	\$13000.00	\$39,000.00	\$12,300.00	\$36,900.00	\$9,500.00	\$28,500.00	\$10,500.00	\$31,500.00	\$12,000.00	\$36,000.00	\$25,000.00	\$75,000.00	\$19,500.00	\$58,500.00
XX000679	CUT AND CAP EXISTING WATER MAIN	EACH	1	\$3000.00	\$3,000.00	\$2,500.00	\$2,500.00	\$4,500.00	\$4,500.00	\$1,000.00	\$1,000.00	\$1,500.00	\$1,500.00	\$2,500.00	\$2,500.00	\$8,800.00	\$8,800.00
XX003516	CONNECTION TO EXISTING WATER MAIN (NON-PRESSURE) - 8"	EACH	1	\$6300.00	\$6,300.00	\$14,000.00	\$14,000.00	\$8,014.00	\$8,014.00	\$5,000.00	\$5,000.00	\$12,000.00	\$12,000.00	\$6,000.00	\$6,000.00	\$12,000.00	\$12,000.00
XX003668	PRECONSTRUCTION VIDEO TAPING	L SUM	1	\$1050.00	\$1,050.00	\$100.00	\$100.00	\$3,500.00	\$3,500.00	\$2,000.00	\$2,000.00	\$3,500.00	\$3,500.00	\$3,500.00	\$3,500.00	\$5,650.00	\$5,650.00
XX005206	EXPLORATORY EXCAVATION	FOOT	50	\$100.00	\$5,000.00	\$150.00	\$7,500.00	\$100.00	\$5,000.00	\$35.00	\$1,750.00	\$40.00	\$2,000.00	\$10.00	\$500.00	\$85.00	\$4,250.00
XX007026	FENCE REMOVAL AND REINSTALLATION	FOOT	61	\$100.00	\$6,100.00	\$100.00	\$6,100.00	\$70.00	\$4,270.00	\$88.00	\$5,368.00	\$12.50	\$762.50	\$140.00	\$8,540.00	\$130.00	\$7,930.00
MG2	HORIZONTAL DIRECTIONALLY DRILLED WATER MAIN PIPE, 12"	FOOT	1,263	\$535.00	\$675,705.00	\$607.00	\$766,641.00	\$549.00	\$693,387.00	\$495.00	\$625,185.00	\$400.00	\$505,200.00	\$646.00	\$815,898.00	\$545.00	\$688,335.00
MG4	CONNECTION TO EXISTING WATER MAIN (NON-PRESSURE) - 12"	EACH	1	\$6000.00	\$6,000.00	\$15,000.00	\$15,000.00	\$10,000.00	\$10,000.00	\$10,500.00	\$10,500.00	\$15,000.00	\$15,000.00	\$12,500.00	\$12,500.00	\$15,000.00	\$15,000.00
MG7	UNPAVED PATH REMOVAL AND RESTORATION	SQ FT	2,027	\$60.00	\$121,620.00	\$5.00	\$10,135.00	\$66.00	\$133,782.00	\$25.00	\$50,675.00	\$4.50	\$9,121.50	\$14.00	\$28,378.00	\$8.50	\$17,229.50
		BASE	E BID TOTAL	CALCULATED	\$1,027,748.50	1	\$1,072,910.00		\$1,066,756.00		\$898,658.00		\$745,796.50		\$1,177,158.00	L	\$1,076,406.95
			BASE BID TO	TAL AS-READ			\$1,072,910.00		\$1,066,756.00		\$898,658.00		\$745,796.50		\$1,177,158.00		\$1,076,406.95

Village of Morton Grove, Cook County, Ilinois Albert-Davis Water Main Improvements Project

Bid Tabu	vis water Main Improvements Project lation .ng: November 30, 2023, 10:00 am			Engine	eer's Estimate	316 Ca	ontractors, Inc. ry Point Drive Ilinois 60013	5933 N. I	Contracting Co. Knox Avenue Illinois 60646	1251 R	Construction, Inc. edeker Road s, Illinois 60016	490 T	struction Corporation opsoil Drive ago, Illinois 60185	720 F	o Brothers. Inc. Richard Lane e, Illinois 60007	Berger Contractors, Inc. 1205 N. Garland Road Wauconda, Illinois 60084	
Code Number	ltem	Unit of Measurement	Quantity	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost
	ALTERNATIVE A																
	ADDITION SCHEDULE																
MG2A	HORIZONTAL DIRECTIONALLY DRILLED WATER MAIN PIPE, 12" (ALT A)	FOOT	1,263	\$645.00	\$814,635.00	607	\$766,641.00	549	\$693,387.00	495	\$625,185.00	400	\$505,200.00	0	\$0.00	545	\$688,335.00
			ADDITION	SUBTOTAL TOTAL	\$814,635.00		\$766,641.00		\$693,387.00		\$625,185.00		\$505,200.00		\$0.00		\$688,335.00
	DEDUCTION SCHEDULE																
MG2	HORIZONTAL DIRECTIONALLY DRILLED WATER MAIN PIPE, 12"	FOOT	1,263	\$535.00	\$675,705.00	607	\$766,641.00	549	\$693,387.00	495	\$625,185.00	400	\$505,200.00		\$0.00	545	\$688,335.00
			DEDU	ICTION SUBTOTAL	\$675,705.00		\$766,641.00		\$693,387.00		\$625,185.00		\$505,200.00	0	\$0.00		\$688,335.00
ALT	ALTERNATIVE A TOTAL CALCULATED (BASE BID TOTAL + ADDITION SUBTOTAL - DEDUCTION SU		N SUBTOTAL)	\$1,166,678.50	\$1,072,910.00		\$1,066,756.00			\$898,658.00	0 \$745,796.50		\$1,177,158.00		\$1,076,406.95		
		ALTE	RNATIVE A TO	TAL AS-READ			\$1,072,910.00		\$1,066,756.00		\$898,658.00		\$745,796.50		\$1,177,158.00		\$1,076,406.95
	ALTERNATIVE B																
	ADDITION SCHEDULE																
MG2B	HORIZONTAL DIRECTIONALLY DRILLED WATER MAIN PIPE, 12" (ALT B)	FOOT	1,263	\$560.00	\$707,280.00	607	\$766,641.00	549	\$693,387.00	495	\$625,185.00	400	\$505,200.00	0	\$0.00	545	\$688,335.00
			ADDITION	SUBTOTAL TOTAL	\$707,280.00		\$766,641.00		\$693,387.00		\$625,185.00		\$505,200.00		\$0.00		\$688,335.00
	DEDUCTION SCHEDULE																
MG2	HORIZONTAL DIRECTIONALLY DRILLED WATER MAIN PIPE, 12"	FOOT	1,263	\$535.00	\$675,705.00	607	\$766,641.00	549	\$693,387.00	495	\$625,185.00	400	\$505,200.00	0	\$0.00	545	\$688,335.00
			DEDU	CTION SUBTOTAL	\$675,705.00		\$766,641.00		\$693,387.00		\$625,185.00		\$505,200.00		\$0.00		\$688,335.00
ALT	ERNATIVE B TOTAL CALCULATED (BASE BID TOTAL + ADDI	TION SUBTOTA		N SUBTOTAL)	\$1,059,323.50		\$1,072,910.00		\$1,066,756.00		\$898,658.00		\$745,796.50		\$1,177,158.00		\$1,076,406.95
		ALTE	RNATIVE B TO	TAL AS-READ			\$1,072,910.00		\$1,066,756.00		\$898,658.00		\$745,796.50		\$1,177,158.00		\$1,076,406.95

Village of Morton Grove, Cook County, Ilinois Albert-Davis Water Main Improvements Project

Bid Tabul	vis Water Main Improvements Project ation ng: November 30, 2023, 10:00 am			Engine	eer's Estimate	2830 N.	Constructing Corp. Lincoln Avenue , Illinois 60657	Trine Construction Corp. 1041 Trine Ct., Suite A St. Charles, Illinois 60174		
Code Number	ltem	Unit of Measurement	Quantity	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost	
	BASE BID									
20100110	TREE REMOVAL (6 TO 15 UNITS DIAMETER)	UNIT	24	\$53.00	\$1,272.00	\$45.00	\$1,080.00	\$35.84	\$860.16	
20100210	TREE REMOVAL (OVER 15 UNITS DIAMETER)	UNIT	70	\$53.00	\$3,710.00	\$50.00	\$3,500.00	\$40.96	\$2,867.20	
20101000	TEMPORARY FENCE	FOOT	1,253	\$3.00	\$3,759.00	\$4.50	\$5,638.50	\$19.20	\$24,057.60	
20101100	TREE TRUNK PROTECTION	EACH	11	\$130.00	\$1,430.00	\$250.00	\$2,750.00	\$640.00	\$7,040.00	
20800150	TRENCH BACKFILL	CU YD	35	\$70.00	\$2,450.00	\$100.00	\$3,500.00	\$199.28	\$6,974.80	
25000100	SEEDING, CLASS 1	ACRE	0.60	\$7000.00	\$4,200.00	\$6,000.00	\$3,600.00	\$44,800.00	\$26,880.00	
25000314	SEEDING, CLASS 4B	ACRE	0.10	\$10000.00	\$1,000.00	\$25,000.00	\$2,500.00	\$61,440.00	\$6,144.00	
25100630	EROSION CONTROL BLANKET	SQ YD	2,827	\$3.00	\$8,481.00	\$3.00	\$8,481.00	\$22.23	\$62,844.21	
28000250	TEMPORARY EROSION CONTROL SEEDING	POUND	60	\$8.00	\$480.00	\$1.00	\$60.00	\$64.00	\$3,840.00	
28000400	PERIMETER EROSION BARRIER	FOOT	1,167	\$7.00	\$8,169.00	\$3.25	\$3,792.75	\$19.20	\$22,406.40	
28000510	INLET FILTERS	EACH	1	\$150.00	\$150.00	\$450.00	\$450.00	\$347.75	\$347.75	
28001100	TEMPORARY EROSION CONTROL BLANKET	SQ YD	2,827	\$1.50	\$4,240.50	\$0.10	\$282.70	\$2.56	\$7,237.12	
55100700	STORM SEWER REMOVAL 15"	FOOT	47	\$35.00	\$1,645.00	\$10.00	\$470.00	\$99.00	\$4,653.00	
56103300	DUCTILE IRON WATER MAIN 12"	FOOT	140	\$250.00	\$35,000.00	\$480.00	\$67,200.00	\$568.07	\$79,529.80	
56400500	FIRE HYDRANTS TO BE REMOVED	EACH	1	\$950.00	\$950.00	\$750.00	\$750.00	\$13,500.00	\$13,500.00	
Z0013797	STABILIZED CONSTRUCTION ENTRANCE	SQ YD	78	\$55.00	\$4,290.00	\$200.00	\$15,600.00	\$192.00	\$14,976.00	
Z0013798	CONSTRUCTION LAYOUT	L SUM	1	\$4000.00	\$4,000.00	\$25,000.00	\$25,000.00	\$19,200.00	\$19,200.00	
Z0056650	STORM SEWERS, TYPE 1, WATER MAIN QUALITY PIPE, 15"	FOOT	47	\$250.00	\$11,750.00	\$340.00	\$15,980.00	\$283.62	\$13,330.14	
X1200015	VALVE VAULTS TO BE ABANDONED	EACH	3	\$1300.00	\$3,900.00	\$500.00	\$1,500.00	\$3,300.00	\$9,900.00	
X1200130	GATE VALVE 12" WITH VAULT, 5' DIAMETER	EACH	2	\$8500.00	\$17,000.00	\$40,000.00	\$80,000.00	\$17,416.90	\$34,833.80	
X2111100	TOPSOIL EXCAVATION AND PLACEMENT, SPECIAL	CU YD	945	\$32.00	\$30,240.00	\$10.00	\$9,450.00	\$32.00	\$30,240.00	
X5610658	WATER MAIN TO BE ABANDONED, 8"	FOOT	130	\$9.00	\$1,170.00	\$7.00	\$910.00	\$29.44	\$3,827.20	
X5610662	WATER MAIN TO BE ABANDONED, 12"	FOOT	1,563	\$9.00	\$14,067.00	\$14.00	\$21,882.00	\$34.56	\$54,017.28	
X5610708	WATER MAIN REMOVAL, 8"	FOOT	5	\$20.00	\$100.00	\$10.00	\$50.00	\$198.00	\$990.00	
X5610712	WATER MAIN REMOVAL, 12"	FOOT	26	\$20.00	\$520.00	\$10.00	\$260.00	\$247.50	\$6,435.00	
X5640175	FIRE HYDRANT COMPLETE	EACH	3	\$13000.00	\$39,000.00	\$25,000.00	\$75,000.00	\$17,044.96	\$51,134.88	
XX000679	CUT AND CAP EXISTING WATER MAIN	EACH	1	\$3000.00	\$3,000.00	\$2,500.00	\$2,500.00	\$10,000.00	\$10,000.00	
XX003516	CONNECTION TO EXISTING WATER MAIN (NON-PRESSURE) - 8"	EACH	1	\$6300.00	\$6,300.00	\$25,000.00	\$25,000.00	\$13,500.00	\$13,500.00	
XX003668	PRECONSTRUCTION VIDEO TAPING	L SUM	1	\$1050.00	\$1,050.00	\$1,000.00	\$1,000.00	\$5,000.00	\$5,000.00	
XX005206	EXPLORATORY EXCAVATION	FOOT	50	\$100.00	\$5,000.00	\$75.00	\$3,750.00	\$495.00	\$24,750.00	
XX007026	FENCE REMOVAL AND REINSTALLATION	FOOT	61	\$100.00	\$6,100.00	\$95.00	\$5,795.00	\$39.00	\$2,379.00	
MG2	HORIZONTAL DIRECTIONALLY DRILLED WATER MAIN PIPE, 12"	FOOT	1,263	\$535.00	\$675,705.00	\$606.00	\$765,378.00	\$1,133.09	\$1,431,092.67	
MG4	CONNECTION TO EXISTING WATER MAIN (NON-PRESSURE) - 12"	EACH	1	\$6000.00	\$6,000.00	\$28,000.00	\$28,000.00	\$16,077.47	\$16,077.47	
MG7	UNPAVED PATH REMOVAL AND RESTORATION	SQ FT	2,027	\$60.00	\$121,620.00	\$8.00	\$16,216.00	\$15.36	\$31,134.72	
		BAS	E BID TOTAL (CALCULATED	\$1,027,748.50		\$1,197,325.95		\$2,042,000.20	
			BASE BID TO	TAL AS-READ			\$1,197,325.95		\$2,042,000.00	

Village of Morton Grove, Cook County, Ilinois Albert-Davis Water Main Improvements Project

Bid Tabulation Bid Opening: November 30, 2023, 10:00 am				Engined	er's Estimate	2830 N.	Constructing Corp. Lincoln Avenue , Illinois 60657	Trine Construction Corp. 1041 Trine Ct., Suite A St. Charles, Illinois 60174		
Code Number	Item	Unit of Measurement	Quantity	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost	
	ALTERNATIVE A									
	ADDITION SCHEDULE									
MG2A	HORIZONTAL DIRECTIONALLY DRILLED WATER MAIN PIPE, 12" (ALT A)	FOOT	1,263	\$645.00	\$814,635.00	606	\$765,378.00	1133.09	\$1,431,092.6	
		ADDITION	SUBTOTAL TOTAL	\$814,635.00		\$765,378.00		\$1,431,092.6		
	DEDUCTION SCHEDULE									
MG2	HORIZONTAL DIRECTIONALLY DRILLED WATER MAIN PIPE, 12"	FOOT	1,263	\$535.00	\$675,705.00	606	\$765,378.00	1133.09	\$1,431,092.0	
			DEDU	CTION SUBTOTAL	\$675,705.00		\$765,378.00		\$1,431,092.	
ALT	ERNATIVE A TOTAL CALCULATED (BASE BID TOTAL + ADDI	TION SUBTOTA	L - DEDUCTIOI	N SUBTOTAL)	\$1,166,678.50		\$1,197,325.95	\$2,042,000.2		
		ALTE	RNATIVE A TO	TAL AS-READ			\$1,197,325.95		\$2,042,000.	
	ALTERNATIVE B									
	ADDITION SCHEDULE									
MG2B	HORIZONTAL DIRECTIONALLY DRILLED WATER MAIN PIPE, 12" (ALT B)	FOOT	1,263	\$560.00	\$707,280.00	606	\$765,378.00	1133.09	\$1,431,092.	
			ADDITION	SUBTOTAL TOTAL	\$707,280.00		\$765,378.00		\$1,431,092.	
	DEDUCTION SCHEDULE									
MG2	HORIZONTAL DIRECTIONALLY DRILLED WATER MAIN PIPE, 12"	FOOT	1,263	\$535.00	\$675,705.00	606	\$765,378.00	1133.09	\$1,431,092.	
			DEDU	CTION SUBTOTAL	\$675,705.00		\$765,378.00		\$1,431,092.	
ALT	ERNATIVE B TOTAL CALCULATED (BASE BID TOTAL + ADDI	TION SUBTOTA	L - DEDUCTIO	N SUBTOTAL)	\$1,059,323.50		\$1,197,325.95		\$2,042,000.	
		ALTER	RNATIVE B TO	TAL AS-READ			\$1,197,325.95		\$2,042,000.2	